Color threshold formula LABINDS 1996 for NW achromatic colours

AE o nw = Yol (A Yw) + (A G Yu) T2/ (s+q¥y)°
= Yo [ (A YR+ (A G- YT 21 (5+q¥)°

a=xly a=x,/ly, b=-04z/y Bk=-04z/y,

Cp=[a,(a - &) + I, "(b - b)1™? n=D65 or A (surround)

Y =(Y;+Y,)/2 AY=Y;-Y, Aa=ay-a Ab=b;-b,

Penw = Capnw/ Capo=0  $=0,0170 g=0,0058 t=1,0

=10 B=18 Y=15 surround D65

8%=10 B=17 Y%=1,0 surroundA

Just noticeable difference of complementary (dNW colours with:

(aw — a)Yw=(an = a,)Yn: (b = bp)Yi=(by = bp)Yy:  Cap wYw=Can,nN

AYyy = const (s + qYyy )g /Yq in luminance directioWVN
Acapw Y = const (s +a¥y )’/ Yo in any chromaticity direction,
Acy, N Yy = const (s + Yy )Y/ Yo and for theNW purity p, yw=0
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